

# AVR PRÁCTICA-13

Nombre y apellidos.....

1.- Calcula  $\int \frac{x^3 + 3x^2 - 4x + 4}{x^3 + x^2 - 5x + 3} dx = \int \frac{x^3 + x^2 - 5x + 3 + 2x^2 + x + 1}{x^3 + x^2 - 5x + 3} dx$

$= \int 1 + \frac{2x^2 + x + 1}{x^3 + x^2 - 5x + 3} dx = \int 1 dx + \int \frac{2x^2 + x + 1}{(x+3)(x-1)^2} dx$

$\int 1 dx = x$

$\int \frac{2x^2 + x + 1}{(x+3)(x-1)^2} dx = \int \frac{A}{x+3} + \frac{B}{x-1} + \frac{C}{(x-1)^2} dx =$

Descomposición en Fracciones Similares  
 $\frac{A}{x+3} + \frac{B}{x-1} + \frac{C}{(x-1)^2} = \frac{A(x-1)^2 + B(x+3)(x-1) + C(x+3)}{(x+3)(x-1)^2}$

$= \frac{Ax^2 - 2Ax + A + Bx^2 + 2Bx - 3B + Cx + 3C}{(x+3)(x-1)^2} = \frac{(A+B)x^2 + (-2A+2B+C)x + A-3B+3C}{(x+3)(x-1)^2}$

$\Rightarrow \begin{cases} 2 = A+B \\ 1 = -2A+2B+C \\ 1 = A-3B+3C \end{cases} \Rightarrow \begin{cases} 2 = A+B \\ 1 = -2A+2B+C \\ 1 = 2-4B+3C \end{cases} \Rightarrow \begin{cases} 2 = A+B \\ 5 = 4B+C \\ 4 = 3C \end{cases} \Rightarrow \begin{cases} B=1 \\ C=1 \\ A=1 \end{cases}$

$= \int \frac{1}{x+3} + \frac{1}{x-1} + \frac{1}{(x-1)^2} dx = \ln(x+3) + \ln(x-1) - \frac{1}{x-1}$

Así  $x + \ln(x+3) + \ln(x-1) - \frac{1}{x-1}$  es la respuesta que buscamos.

2.- Calcula  $\int \frac{1}{\sin^2 x} dx = \int \frac{1}{\left(\frac{2u}{1+u^2}\right)^2} \cdot \frac{2}{1+u^2} du =$

$u = \tan \frac{x}{2}$

$\sin x = \frac{2u}{1+u^2}$

$dx = \frac{2}{1+u^2} du$

$= \int \frac{(1+u^2)^2}{4u^2} \cdot \frac{2}{1+u^2} du = \int \frac{1}{2u^2} + \frac{1}{2} du = -\frac{1}{2u} + \frac{1}{2}u =$

$= -\frac{1}{2} \frac{\cos \frac{x}{2}}{\sin \frac{x}{2}} + \frac{1}{2} \frac{\sin \frac{x}{2}}{\cos \frac{x}{2}} = \frac{1}{2} \left[ \frac{\sin \frac{x}{2}}{\cos \frac{x}{2}} - \frac{\cos \frac{x}{2}}{\sin \frac{x}{2}} \right] = \frac{\sin^2 \frac{x}{2} - \cos^2 \frac{x}{2}}{2 \cos \frac{x}{2} \sin \frac{x}{2}} =$

$= -\frac{\cos x}{\sin x}$

3.- Calcula  $\int \frac{1}{x\sqrt{x^2-1}} dx.$  =  $\int \frac{\text{sen } u}{\sqrt{\frac{1}{\text{sen}^2 u} - 1}} \cdot \frac{-\text{cos } u}{\text{sen}^2 u} du =$

$x = \frac{1}{\text{sen } u}$

$dx = \frac{-\text{cos } u}{\text{sen}^2 u} du.$

$= \int \frac{\cancel{\text{sen}^2 u} \cdot \frac{1}{\cancel{\text{sen}^2 u}} \cdot \frac{-\text{cos } u}{\cancel{\text{sen}^2 u}} du = -u =$   
 $\frac{1}{x} = \text{sen } u.$

$= -\text{Arc sen } \frac{1}{x}$

4.- Calcula  $\int \text{arc sen } \sqrt{x} dx.$  =  $x \text{ Arc sen } \sqrt{x} - \int x \frac{1}{\sqrt{1-x}} \cdot \frac{1}{2\sqrt{x}} dx$

$= x \text{ Arc sen } \sqrt{x} - \frac{1}{2} \int \sqrt{\frac{x}{1-x}} dx$

Variable  $\int \sqrt{\frac{x}{1-x}} dx = \int \sqrt{\frac{\text{cos}^2 u}{1-\text{cos}^2 u}} (-2 \text{cos } u \text{ sen } u) du =$   
 $x = \text{cos}^2 u$   
 $dx = -2 \text{cos } u \text{ sen } u$

$= -2 \int \frac{\text{cos } u}{\text{sen } u} \cdot \text{cos } u \text{ sen } u du = -2 \int \text{cos}^2 u du =$

$= -2 \int \frac{1 + \text{cos } 2u}{2} du = -2 \left[ \frac{u}{2} + \frac{\text{sen } 2u}{4} \right] = -u - \frac{\text{sen } 2u}{2}$

$= -\text{Arc cos } \sqrt{x} - \frac{1}{2} \text{sen } (2 \text{Arc cos } \sqrt{x}) =$

$u = \text{Arc cos } \sqrt{x}$

$= -\text{Arc cos } \sqrt{x} - \text{cos } (\text{Arc cos } \sqrt{x}) \text{sen } (\text{Arc cos } \sqrt{x}) =$

$= -\text{Arc cos } \sqrt{x} - \sqrt{x} \cdot \sqrt{1 - \text{cos}^2 (\text{Arc cos } \sqrt{x})} = -\text{Arc cos } \sqrt{x} - \sqrt{x-x^2}$

$\int \text{arc sen } \sqrt{x} dx = x \text{ Arc sen } \sqrt{x} + \frac{1}{2} \text{Arc cos } \sqrt{x} + \frac{1}{2} \sqrt{x-x^2}$